Math 1 Question Bank
Unit 2 – One Variable Equations and Inequalities KEY

Below are questions taken from the Case 21 database.  Unfortunately, the questions are stored as pictures, but I moved them to Word so that you can at least move or delete questions if you choose to do so. The answers are under each question
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A taxi charges a base fee of $3.00 and
$0.15 for every mile of the ride. What
equation would represent the relationship
between the cost of the ride (¢) and the
miles of the trip (m)?

A. ¢ =3.00m
B. ¢ =.15m
C. ¢ =3.00m +.15

15m + 3.00
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What is the solution to the inequality
5+ 5x > 3(x +3)?

A x >2
B. x <2
C.x>1

D v <1
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What is the solution to the inequality

i3
X S -+ x?
2 T a
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What is the solution to the inequality
3(x +2) < 4(x -2)?

A x >14
B. x <14
C.x >4

D v <4
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An amusement park charges $5 for
admission and $.80 for each ride. You go
to the park with $13. Which inequality
represents this situation?

A. 5+ .80x > 13
B.5- .08x <13
C. 13 + 5x < .80x

D.5+ 80x < 13
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Your class is holding a bake sale to raise
money for a field trip. If you are selling
cakes for $3.25, how many do you need
to sell to make at least $250 for your trip?

A. 76
B. 77
C. 812

D. 813
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Katie baDysits ana charges a flat fee of
$10 plus $2 for every hour she babysits. If
she makes $26, how many hours did Katie
babysit?

A 13
B. 12
C.9

D 8
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A taxi ride cost $24.20. The driver
charged $4 plus $0.30 per .5 mile
traveled. Approximately how many miles
did the taxi travel on this trip?

A. 67 miles
B. 47 miles
C. 40.3 miles

D. 33.7 miles
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How long will it take Mike to walk the 6
miles from his home to the grocery store
if Mike walks at a rate of 2 mph?

A. 2 hours
B. 3 hours
C. 10 hours

D. 12 hours
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If an airplane travels 110 mph for 5
hours, what is the total distance traveled?

A. 22 miles
B. 55 miles
C. 220 miles

D. 550 miles
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A diagram of Farmer Bob's garaen is
shown. He needs a fence to protect his
garden. The cost of the fence is $2.50 per
foot.

0

7R

How much will Farmer Bob's new fence
cost?

A. $42.50
B. $70.00
C. $85.00

D. $175.00
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It @ number is multipliea by 8 and 15 is
subtracted from the product, the result is
equal to 41. What is the number?

A. 56
B. 26
C.8

D 7
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It @ number is doubled, and 16 Is aadea
to it, the result is 40. What is the number?

A. 28
B. 24
C. 14

D 12
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In order to receive a B in Biology class,
Michael must have an average score of at
least 82 on 5 tests. So far, he has made
88, 90, 75, and 76. What must he score
on the last test to make a B in the class?

A. at least 88
B. at least 87
C. at least 82

D. at least 81
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The perimeter of ACSW 1s 3 times the
length of CW.

What is the length of SW'?
A 6
B. 8
C. 10

D 12
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Christine’s parents gave her $70 to spend
at the Topsfield Fair. She spent $10 on
flowers and needs to buy vases. Each
antique flower vase at the fair costs $3.
Which represents the number of antique
flower vases Christine can buy?

A. at least 20 vases
B. at the most 20 vases
C. exactly 20 vases

D. at the most 1 vase
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Shanta's cell phone compnay charges her
$45 a month plus $0.25 for each text she
uses over 250. How can Shanta represent
the cost of her cell phone bill for any
month assuming that she uses over 250
texts?

A. C =45+ 0.25¢
B. C =45+ 0.25(¢ + 250)
C. C =45+ 0.25(¢ —250)

D. C =45¢ + 0.25
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Which inequality describes this situation?

752 x280
75<x<80
75> x> 80

> O & >

75 < ¥ < 80
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Cathy places an ad in the neighbornood
newsletter advertising her pet-sitting service.
Her fees are listed in the table.

What will Cathy charge to pet sit for 8 days?

Cathy's Pet-Sitting Service
Pet-Sitting
# of Days =
T $7.50
2 15.00
3 22.50
4 30.00
5 37.50
A. $67.50
B. $60.00
C. $52.50
D. $45.00
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You want to limit your monthly phone Dill to
$38. The phone company charges a base fee
of $15 per month and an additional $0.09 a
minute for each phone call.

What is the maximum number of minutes you
can talk each month and still stay within your
budget?

A. 32 minutes
B. 75 minutes
C. 255 minutes
D

588 minutes
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The formula for the volume of a
rectangular prism is V = /wh. What is the
formula when solved for w?





image24.png
Carson solved an inequality using the
steps shown.

Given: -2(n =3)-5<9
Step1:-2n +6-5<9
Step2:-2n +1<9
Step 3: -2n < 8

Step4: n <-4

Which step contains Carson's first
mistake?

A. Step 1
B. Step 2
C. Step 3

D. Step 4
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Irene graphed the solution for the inequality
shown.

2
>-=x +1
Y 3X

Which provides the best description of
how Irene graphed the solution?

A. Irene graphed a solid line for the
equation and shaded above the line.

B. Irene graphed a dotted line for the
equation and shaded above the line.

C. Irene graphed a solid line for the
equation and shaded below the line.

D. Irene graphed a dotted line for the
‘equation and shaded below the line.




image26.png
The formula C-9i(F—32) is used to

convert degrees Celsius (C) to degrees
Farenheit (F). Using this formula, what
is the Farenheit equivalent of 60
degrees Celsius?

A. 15
B. 32
C. 92

D. 140
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Study the number line.

-10-8—6-4-2 0 2 4 6 8

Which choice represents the solution set
for the inequality illustrated on the
number line?

A -9<x<b
B. -9>x>6
C. -9<x<6

D -9>x>6
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Use the expression in the box.

367-6)-6-4p)

What is the value of the expression if
p=>5?
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Mr. Jennings assigned the 2 inequalities in
the box for homework.

1) 6a-724a+9

2) 2(2a+3)<-18

Which statement is true about the
inequalities?

A. To correctly solve, you need to reverse
the direction of the inequality sign in both
problems.

B. The value of a is greater in #2.

C. The value of & is greater in #1.

D. The relationship between the 2

inequalities cannot be determined from
the given information.
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Which choice represents the graph of the
solution set of the inequality in the box?

<2x+7<13
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A circular trampoline has an area of 132.2
square feet.

What is the radius of the trampoline?
(rounded to the nearest tenth)

A. 21.0 ft
B.7.3.0ft
C. 6.5 ft

D. 37 ft




image32.png
The coordinate grid represents Chang's
town, where each grid unit is one block
long. Point Crepresents Chang's house,
point U represents his uncle's house, and
point G represents his grandmother's
house.

Chang walks from his house to meet his
uncle at a point exactly halfway between
his uncle's house and his grandmother's
house. How far does Chang walk?

A. 4 blocks
B. 5 blocks
C. 6 blocks

D. 7 blocks
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Which point represents the midpoint
between (10, 3) and (-2, -5)?

A. (4,-1)
B. (4,0)
C. (5,-2)

D. (8, -2)
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Which statement about the distance
between the points (2, -3) and (-7, 4) is
true?

A. The distance is slightly less than 11.
B. The distance is slightly greater than 11.
C. The distance is slightly less than 7.

D. The distance is slightly greater than 7.
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Which is the midpoint between (5, -8) and
(2, 9)?

A (35,7.5)
B. (3.5, 0.5)
C. (45,7.5)

D. (4.5, 0.5)




image36.png
AB s a diameter of a circle. It the
coordinates of Aand B are (5,-11) and
(12,-8) respectively, what is the center of
the circle?

A. (-85, 9.5)
B. (9.5, -8.5)
C. (8.5, -9.5)

D. (-9.5, 8.5)
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The coordinate grid represents a state
park. There is a picnic table at Pand a
horseshoe pit at A.

-+
2
3
4

s

The water fountains are exactly half-way
between the picnic table and the
horseshoe pit, at point W. Which
coordinate describes the location of W/?

A (2,0
B (-1,0)
C. (0, -2)

D. (0, -1)
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Dominique's and Maria's neighborhood
can be modeled using a coordinate grid.
Dominique's house is at point O, and
Maria's is at point M. The two girls walk in
a straight line toward each other's houses
to meet at a point P exactly half-way
between their houses.

Using the coordinate grid, which
coordinates represent £, their meeting
place?

A (2,0)
B. (0, -2)
C. (-1,0)

D. (0, -1)
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On a griq, the position of Lauri’'s school is
(-15, -4) and the position of the public
library is (25, -34). What is the distance
between Lauri's school and the public
library?

A. 70
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The coordinate of the midpoint of the
segment £F is M (3, -5). If the
coordinates of £ are (5, 7), what are the
coordinates of £7?

A (1,-17)
B. (1,-3)
C.(41)

D. (8, -2)




image41.png
Line segment CD Is graphed on the
coordinate grid.

What is the midpoint of segment CD ?
A. (0, 1)
B. (1, 0)
C. (2,-1)

D. (3, -2)




image42.png
What are the coordinates of point B if It IS
halfway between points A and C as
shown on the graph?

TTT

A. (-5,0)
B. (0,.5)
C. (0,1)

D. (-1,0)
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The coordinate grid represents Chang's
town, where each grid unit is one block
long. Point C represents Chang's house,
point U represents his uncle's house, and
point G represents his grandmother's
house.

Chang walks from his house (C) to his
grandmother's house. At the same time,
Chang's uncle walks from his house (U) to
Chang's grandmother's house. Which
statement is true?

A. Chang's walk is 2 blocks longer than his
uncle's walk.

B. Chang's walk is 4 blocks longer than his
uncle's walk.

C. Chang's walk is 2 blocks shorter than his
uncle's walk.

D. Chang's walk is 4 blocks shorter than his
uncle's walk.
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What is the distance between points A
and B7?

AVTE
B. V16
C. V36

D. /52
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Mary lives at point 4 (-2, -4) and Jake lives
at point B(3, 2).

A .C

What is the distance between Mary and
Jake?

A 6YS
B. /35
C. 61l

D. 5B
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Hillary works at a video store. She earns
$8.50 per hour plus 12% commision on all
the weekly sales she makes. If she works
24 hours in a week, which expression
best describes her sales () if she earns
at least $324 during that week?

A. 8.5+ 0.12x> 324
B. 204 + 0.12x > 324
C. 8.5+ 0.12x< 324

D. 204 + 0 12x< 204
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What property woula justify the next step
used to solve the equation, 12x = -24?

A. Subtraction Property of Equality
B. Addition Property of Equality
C. Multiplication Property of Equality

D. Division Property of Equality
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